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&S X 4 Ergl;f 'Fﬁﬁb\(‘z)(bﬁﬁﬁﬁ jj(gigcn?)‘é Z 4 'Fiﬁﬁg\éz((g;kzlz z.%r'n‘c)k jj(ﬁ?tn:é)‘é Z 4 E.%r‘na)k J:ﬁﬁb\(‘:)o)tt% jj(ﬁ?tn:é)‘é X 4 J:ﬁﬁuﬁb‘(if)tt% ‘(.ia;f jj(lfﬁtm%)é
7 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ -
s 1.00 | 0.00 ~ 4.54 56.58 | TS | 000 ~ 4.54| 1.95 10.256 st 1.00 | .00 ~ 5.18 56.58 | =hS | 5.00 ~ 6.18| 1.95 10.25
2 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 5.10 63.54 | FnLSY | 000 ~ 510 1.79 941 st 1.00 | 6.00 ~ 5.49 63.54 | ThS | 5,00 ~ 6549)| 1.79 941
3 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 4.24 53.04 | FnRS | 000 ~ 424 | 2.10 11.01 st 1.00 | 6.00 ~ 5.50 53.04 | =hS | 5.00 ~ 650 | 2.10 11.01
4 100kN/mM##BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 5.16 64.35 | FnLUSY | 0oo ~ 516| 1.98 10.56 st 1.00 | 6.00 ~ 6.20 64.35 | Thst | 6.00 ~ 620 1.98 10.56
5 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -] 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 348 44.06 | FnLSY | 0.00 ~ 348 | 2.29 12.03 st 1.00 | 6.00 ~ 5.60 44.06 | =hS | 5.00 ~ 6.60 | 2.29 12.03
P 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -] 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 4.66 5813 | #nRS | 000 ~ 4.66| 1.85 9.68 st 1.00 | 6.00 ~ 5.00 5813 | #h4t | 5.00 ~ 6.00| 1.85 9.68
- 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 4.76 59.36 | =nRS | 000 ~ 4.76 | 1.76 925 st 1.00 | 6.00 ~ 5.00 59.36 | =h4 | 5.00 ~ 5.00| 1.76 9.25
P 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 527 65.67 | FNLSY | 000 ~ 527|177 928 st 1.00 | 6.00 ~ 5.70 65.67 | TnhUS | 5.00 ~ 570 1.77 9.28
9 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 6.04 75.74 | NS | 0o0 ~ 604 1.75 918 st 1.00 | 5.00 ~ 6.90 75.74 | ThLSY | 500 ~ 690 1.75 918
10 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 6.00 75.23 | FnLSY | 000 ~ 6.00| 1.81 9.48 st 1.00 | 6.00 ~ 6.90 75.23 | ThS | 6.00 ~ 6.90 | 1.81 9.48
11 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 6.00 75.24 | FnLSY | 000 ~ 6.00| 1.81 947 st 1.00 | 5.00 ~ 6.90 75.24 | ThLS | 6.00 ~ 6.90 | 1.81 947
12 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 6.04 75.72 | FnLS | 000 ~ 604 1.76 921 st 1.00 | 5.00 ~ 6.90 75.72 | ThSY | 5.00 ~ 690 1.76 921
13 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 5.26 65.56 | FnLSY | 0.00 ~ 526 | 1.83 9.62 st 1.00 | 6.00 ~ 5.80 65.56 | ThSt | 5.00 ~ 580 1.83 9.62
14 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 6.23 7829 | #nS | 0oo ~ 623 1.93 10.14 st 1.00 | 6.00 ~ 7.79 7829 | ThSY | 500 ~ 7.79| 1.93 10.14
15 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 5.00 62.26 | =N | 000 ~ 000|172 9.03 st 1.00 | 6.00 ~ 5.30 62.26 | FnLSY | 5.00 ~ 530 1.72 9.03




RIER b AR X EGEH =

BX3—2 BEMIIERTHIEEEINDIEEICEATLHEIE2/2) | H#EEE | L 19
[ AlErHEONE | Bmks 75741018 [ B | L H -3 [ e 2 RER L H
) SERMO TinICHEET S ZEH A
ﬁg TREOBEBOSILEHOKRES TERFDOHBEEILHNOKRES TEFEOBEBOEILHOKRES TREOHBEEILADKES
&S X 4 Er%r'n‘c; ‘Fﬁb\(‘z)@ﬁﬁ%’é jj(gilzcn:é)é Z 4 'Fﬁﬁﬁg\ézg;kzlz z.%r'n‘c)k jj(lfifn:é)é Z 4 ﬁf J:ﬁﬁb\(‘:)o)tt% jj(lfifn:é)é X 4 J:ﬁn“ﬁ;b\(i)o)tt‘.%' ‘(.%.r'g jj(&itr:f)é
16 100kN/m%E#8z5 | 1.00 | 000 ~ 287 14544 |3mEBz% -~ - - -] 100kN/ %825 | 1.00 | 1061 ~ 27.03| 14544 |3m%E#BZ% -~ -
s 1.00 | 287 ~ 1065 100.00 | #=nst | 0.00 ~ 1065| 2.96 15.54 st 1.00 | 6.00 ~ 1061 100.00 | =nst | 6.00 ~ 2703| 2.96 15.54
17 100kN/m%E#BZ5| 1.00 000 ~ 272 14285 |3mEHEZD -~ - - -] 100kN/ %825 | 1.00 | 1059 ~ 2467 | 14285 |3m%E#BzZ% -~
s 1.00 | 272 ~ 1050 100.00 | =nst | 000 ~ 1060 2.64 13.86 st 1.00 | 6.00 ~ 10.59 100.00 | =St | 5.00 ~ 2467| 2.64 13.86
18 100kN/mM#E#B25 | 1.00 | 000 ~ 274 143.21 |3m%E#BZ 5 -~ - - -] 100kN/ %8825 | 1.00 | 1065 ~ 2577 14821 |3m%E#Bz% -~
s 1.00 | 274 ~ 1052 100.00 | #nlst | 0.00 ~ 1052 2.95 156.46 st 1.00 | 6.00 ~ 1065 100.00 | =nst | 6.00 ~ 2577 2.95 15.46
19 100kN/mM##BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 7.09 90.08 | =nLst | 0.0o0 ~ 000 1.70 8.91 st 1.00 | 5.00 ~ 9.00 90.08 | =hd4t | 5.00 ~ 9.00| 1.70 8.91
20 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -] 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 6.20 77.87 | FnLS | 0o0o ~ 620 1.98 10.56 st 1.00 | 6.00 ~ 8.00 77.87 | ThSY | 5,00 ~ 800 1.98 10.56
21 100kN/m%E#BZ5| 1.00| 000 ~ 105 11585 |3mEEZD -~ - - -] 100kN/mZ#8z5 | 1.00 | 10.79 ~ 14.39| 115.85 |3mZi#Bz25 -~
s 1.00 | 1.05 ~ 884 100.00 | =nlst | 0.00 ~ 884 | 2.08 10.92 st 1.00 | 6.00 ~ 10.79 100.00 | =nst | 6.00 ~ 1439| 2.08 10.92
22 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 000 ~ 735 93.77 | #nRS | 0.00 ~ 0.00| 1.66 873 st 1.00 | 5.00 ~ 9.80 93.77 | #hS | 5.00 ~ 9.80| 1.66 878
23 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 5.68 70.97 | FnLSY | 0.00 ~ 568\ 1.91 10.01 st 1.00 | .00 ~ 6.70 70.97 | TS | 6.00 ~ 6.70| 1.91 10.01
24 100kN/mM#E#BZ5 | 1.00 | 0.00 ~ 3.00 147.73 |3m%E#BZ 5 -~ - - -] 100kN/ %825 | 1.00 | 1063 ~ 2957 14773 |3m%E#BZ% -~
s 1.00 | 300 ~ 1079 100.00 | =nlst | 0.00 ~ 1079 2.96 156.51 st 1.00 | 6.00 ~ 1063 100.00 | =nst | 6.00 ~ 29.57| 2.96 15.01
25 100kN/m%E#8z5 | 1.00 | 000 ~ 245| 13839 |3mEiBz% -~ - - -] 100kN/mZ#8z5 | 1.00 | 11.00 ~ 2583| 13839 |3mZzi#Bz5 -~
s 1.00 | 245 ~ 1024 100.00 | #nlst | 0.00 ~ 1024 2.86 14.99 st 1.00 | 6.00 ~ 1100 100.00 | =nst | 6.00 ~ 2583 2.86 14.99
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~

DiE
JH
Am|




